[image: image1.jpg]T"A"Gldss.com 4)’7:'7 1% ’%






听力课堂,开放式英语学习平台！www.TingClass.net

必背句型:
A:The lender has a remedy either in court orthrough repossession of the car.

贷方有诉诸法庭或重新占有汽车两种救济方法。

B:Which one will he choose?

他会选择哪种?

He is either in the park or on the playground.

他或在公园或在广场。

He is either at home or not.

他或在家或不在。

He goes to work either by bus or driving his car.

他去上班或者坐公交车或者开车。

延伸阅读:
A:The judge deemed this remedy sufficient to compensate the plaintiff.

法官认为这个救济方法已经使原告得到充分的补偿了。

B:It is making any other remedy unnecessary.

不需要再用衡平法上的救济方法了。

The judge deemed this remedy enough to compensate the plaintiff.

法官认为这个救济方法已经使原告得到充分的补偿了。

The time is sufficient to do the work.

做这项工作时间足够了。

The time is enough to do the work.

做这项工作时间足够了。
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